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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2.  Attempt all questions.
3. All questions carry equal marks.
4. Use of Simple Calculator is permitted.

5. Students are allowed to use present value and future
value tables.

6. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.

P.T.O.



alo o FTeIaW

% o s
|

3066 20w 3066 15

o @ T Fd ¢ ‘13 s it v few dRasm & i @ fe
3100 WRE W el gon Jer i A a4 @ el
T8 A dhasw AR B AT TG B

L @ vE-TT & fem f ew Ry T AeiRe s W

FFHIE Tl |
5. sl v @ IR AR | (i) 10 9 B 10,00,000 SFFEE TR T F T
3 ol TR B S W R " (i) 14% =S I e 2100 W Reww w0 wEm
4., HYRO ST & TN S SR B | ‘ EBIT & SR X &1 womn il (8)
5. I S S I SR A e e SS9t H (@) A Ltd. 31 WeuR Sl SR HiSC AR R awe
R R T o o @ 2, famedt @ R AR R w2
6. =G I -TH H IR Freq ar B8 Rl ve o % A, AfET
Teht ITR T AL T & el A6 | e viRnt i | wiReRl | eI | ifRch
: Ry %1,00,000 | %1,12,000 | ¥1,20,000 | T1,24,000
fefrd: FwoH
1. (a) “Wealth maximization is a better criterion than qiEa 1T A e . # -
profit maximization “Do you agree? Explain. (8) Teg | 12,000 212,000 312,000 | 12,000
e SaEeT T 30 far 45 fam 60 faer 75w

(b) Explain the Time Value of Money Concept. What
are the factors affecting the Time Value of

W @ FEW W 20% 81 UH 99 ¥ 360 R WA g

Money? (7)
wora A & S-w e w2
OR (7)
(a) “Financial Management has expanded in its scope
during last few decades”. Examine the modern 5. (%) Fefafae f@wr A Ltd, B Ltd, 3R C Ltd. &
approach to the scope of financial management. HalE 2 -
(8)
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that future incomes are disco
find the IRR of the two pro

posals,

(b) What is meant by capital budgeting -
What are its main features? v
IRR techniques of evaluation
lead to conflicting project ran



4 3066 13

3066
(a) A firm whose cost of capital 18 10% is considering =fradt 3 (2,00,000)
two mutually exclusive projects A and B, the " - 40,00,000
: . ' _ 10% AR FaT
details of which are as follows : iR ol
10% R
30,00,000
G| our | Poead Project B . 00,000
80.00.,000

o 1 IR TG ¥ T25 W fFAwar 1 qF Wi
aﬁmﬁr%%aﬁ*ﬁr 2 W AW H AE [N R
e & Rw 7% S WA |WIM W AN T 30% TH
Aol TR ASTET Tof T W Yen SR e

AEE F O HE 2 (8)
Compute the Pay Back Period, Net Present Value (@) “Fw B .
at 10%, Profitability Index, and Internal Rate of 3 " & & A ¥ T AR
Return for two projects. Which project you would ; , HO A WEE R A F [
recommend out of the tWo and why? (15) A W e i (7)
: s (%) XYZ Lid. 1 =i Feemgem
3. (a) A Firm sells its product at 210 per Unit. Variable ) < LE
cost Ratio is 70%. Fixed Cost is #10,000. Present a§ o1 IJAET 60,000 TN
sales are 10,000 units. Calculate the following : ; e @
. 3 WA
(i) Degree of Operating Leverage. iy
= W & a2 wEA w0 ‘
S W
(i) New EBIT if sales increase by 40%. B 1
(iii) New EBIT if sales fall by 25%. (8) et
I JIE PR 2 TR
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X Ltd. 3R Y Ltd. ¥s & Wi Ao & siwla s
2 3R wf I § wwe 2, Rew ses B e X
Ltd. 1 &1 IUANT &l 8 Welleh 90 Y Ltd. =89
H IR AE FE B MR W, X Ltd. ® qE
79,00,000 Rawx & oM W 10% = == = 21 o
A 315 @ W |/A QURT W 20% GREeT @™
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X Ltd. 3R Y Ltd. & ¥qea & AT &G0 3| 9
e, S WA X Ltd. 3R Y Ltd. = g6 ()
o YWY AT S A0 I (7)
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(b) X Ltd. and Y Ltd. are in the same risk class and

are identical in all respects except that company
X Ltd uses debt while company Y Ltd doesn’t use
debt. The levered firm, X Ltd. has %9,00,000
Debentures carrying a 10% rate of interest. Both
the firms earn 20% operating profit on total assets
of ¥15 lakhs. The equity capitalization rate (ke) is
15%. You are required to calculate the value of
firms X Ltd and Y Ltd using the Net Income (NI)
Approach. Also, calculate the overall cost of
capital (ko) of both the firms X Ltd and Y Ltd.

(7)

OR

(a) Manoj Traders Ltd has the following capital

Structure :

Equity Silares (2,00,000) 40,00,000
10% Preference Shares 10,00,000
10% Debentures 30,00,000

80.00.000

The share of company currently sells at ¥25. It is
expected that the company will pay a dividend of
X2 per share which will grow at 7% forever.
Assume a 30% tax rate. You are required to
compute a weighted average cost of capital on
existing capital structure. (8)
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(b) “The cost of debt is generally lower than the cost

of equity.” Explain. Also, explain various methods

for calculating the cost of debt.

4. (a) The details of XYZ Ltd are aé under :

Production of the Year: 60,000 units

Finished Goods Inventory: 3 Months

(7)

Raw Material Inventory: 2 Months Consumption

Production Process :1 Month
Credit allowed by Creditors: 2 Months
Credit allowed to Debtors: 3 Months

“Selling Price per unit ¥ 50 per unit

Raw Material: 50% of the selling price.

Direct Wages: 10% of the selling price.

Overheads: 20% of the selling price.

There is regular production on the sales cycle,

and wages and overheads accrue evenly. Wages

are paid in the next month of accrual. Material is

used at the beginning of the production cycle.

Work-in-process involves the use of the full unit

of raw materials at the beginning of the
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w3 T gfEpsET A aREeET B
T 0 % 50,000 % 50,000
THEY TATE 1 Z 5,000 % 25,000
9 % 10,000 % 20,000
3 15,000 % 10,000
4 22,500 3 5,000
5 Z 30,000 5,000
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manufacturing process and other conversion costs
equivalent to 50%. You are required to find out
the working capital of XYZ Limited. (8)

Explain the major determinants of the working

capital needs of a business firm. (7)
OR
The following data is of Frank Ltd.:

Existing Capital Structure: 10 lakh Equity Shares
of 10 each, Tax Rate is 50%.

Frank Ltd plans to raise additional capital of ¥100
lakhs for financing an expansion project. It is

evaluating two alternative plans:

(1) Issue of 10,00,000 equity shares of 10
each and

(1)) Issue of I100 lakh debentures carrying a
. 14% interest rate. You are required to
calculate the indifference level of EBIT.

(8)

The management of A Ltd is considering changing
its present credit policy the details of options are

given below :

P10
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Credit Policy Present | POLICY I | POLICY II | POLICY IIX
Sales 21,00,000 | %1,12,000 | ¥1,20,000 71,24,000
Variable Costas a o o & %
% of Sales 80% 80% 80% 80%
Fixed Cost 212,000 | 212,000 12,000 212,000
Average ’ :
Collastion Beiiod. 30 days 45 days 60 days 75 days

The firm’s rate of Investment is 20%. Assuming
360 days in a year Advise which option is best.

(7)

5. (a) The following are the details regarding A Ltd, B
Ltd and C Ltd:

ALtd B Lid CLtd
r=15% r=5% R=10%
Ke=10% Ke=10% Ke=10%

E=38 E=¥8 ' E=8

Calculate the value of an equity share of each of
these companies by applying Walter’s formula
when the dividend payout ratio is (a) 25%
(b) 50% (c) 75%. What conclusions would you
draw? (8)
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(b) Explain the Gordon’s model of dividends.
What are its assumptions? Does the value of the
firm is affected by the dividend policy as per this
model? (7)

OR

Write short notes on any three of the following :
(1) ABC anﬁlysis of inventory management.

(ii) EBIT-EPS Analysis.

(ii) EOQ Model

(iv) Difference between Operating and Financial

Leverage.

(v) Cash Budget. (15)

1 (@) ‘o sftrrarEr S geE ¥ OF AlRmaEeT T
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